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Which of the following statements are
correct in respect of ‘New Criminal
Laws’ enacted by Indian Parliament?

(1) The new criminal law’ Bharatiya
Nyaya Sanhita’ came into effect
from April 1, 2023

(2) BharatiyaNagarik Suraksha Sanhita
replaced the Indian Penal Code

(3) Bharatiya Sakshya Adhiniyam
came into effect from July 1, 2024

(4) The Bharatiya Nyaya Sanhita was
passed by the parliament in
December, 2023

(A) land4
(B) 2and3

@ 3and 4

(D) 2and3

Pick up the wrong matching of Brand
Ambassadors for Government led
companies

Swachh Saathi

(1) DiaMirza
(2) PV.Sindhu
(3) Amitabh .

Pulse Polio

Bachchan
(4) Sachin -
Tendulkar
(A) land3
. 2 and 4
(C) 2and3
(D) land4

Campaign
Make in India

CSP-1/A

City Compost

AR DAL QAU YIS 62IRNEYR ‘GOR LAY
ay@aa’ (New Criminal Laws) agaia
Q6719 699 A8YeR 0K ?

(1) «wga 1 ¢1@s 2023 adeisq |
TS 2NN ‘QUASIA QYID A°ES!
QIR 62RU

(2) QLA 69RIR 6918 FINEQ QWAL
QAR gosl A6 RIY 62

(3) 1gaa 2024 Q 9e1a ALY 2yFaa’
QIR 62R

(4) ©eana 2023 6 QURGIA QI A°LG
QA6 AR 62

(A) 164

dARIQ! AASIFE QIR 6ILEQ YW UG
airieea (Brand Ambassadors) g@e eae
aQ |

(1) @adel - Qg Qi

(2) a.edQg - 9RQ ARG

(3) adca e - QT Q6#Ig QY6
City Compost
Campaign

(4) QB 60RARY - 6A] AR ad
Make in India

(A) land3

2and 4

(C) 2and3

(D) land4



Which of the following statements are
correct in respect of ‘Earth Rotation Day’
-2024?

(1) The Earth Rotation Day is
celebrated on January 8" of every
year

(2) This day is dedicated to
acknowledging the discovery of
Earth’s shape

(3) This day is also celebrated to
acknowledge Earth’s natural beauty

(4) Honouring the discovery of our
Planet’s movement

(A) 2and4
(B) land3
(C) 2and3

land 4

Which of the following statements are
not correct in respect of Sheik Hasina
Wazed, who resigned as Prime Minister
of Bangladesh on August 42024 ?

(1) She was the Prime Minister of
Bangladesh for two decades

(2) The students protest against Job
Quota turned into anti-government
agitation

(3) The Supreme Court of Bangladesh
gave a ruling of 30 per cent
reservation in jobs for descendents
of those who participated in 1971
Bangladesh Liberation Movement.

(4) Sheis the President of ‘Bangladesh

National Party’ supported by

Jamaat-e-Islami '
(A) land3
(B) 2and3
(C) land2

2and 4

CSP-1/A

3.

‘gaet a1eele @ea-2024 ‘Earth Rotation
Day’ at6ga16a 9699 60@ Feigea aalel ?

(1) goed eigaial 8 GIAsEa Qe 2ILas
99Q ARG 99

(2) Qa9IqaIQt URIIQ QUNES 98 GeaT
QAG1QE 62198

(3) 9asie gIgee 6dlediq Q198 AER9Y6Q
Ay 2 BQQ QIR 621NN

(4) 219 geq of 2P| ARAEQ 12 @9q
AR} RGN

(A) 264
(B) 163
(C) 263

@

29g 4 0109 2024 6a QRIEQE GAUIKAR

d9Q AYT! 62AAR 69 TR GIEFAT 68G6RQ

Q6919 699 A994geR O] q6% ?

(1) 69 9@ @OR AR QURERIQA JUIRAFT
o6m

(2) QI9Q6Q QWY gl FQEEQ
SIQRIGIAIEE @QaRl JORIQ AARIQ-
Q6T AICRINFER ARG 62R

(3) <raees gda 6ais 1971 erqises 93
26QINREQ AITERRYS! A°GIAIAIRT
QEIQ TR QG 6396a 95eel 30
QT AFE IR 99 FERERIA FITREM

(4) e09-2-2aRIA AAEe ‘AURICIE SIG1E
QR'Q 64 62988 AVIAT

(A) 163
(B) 263
(C) 162

@

[P.T.O.



5.

The Paris-2024 Olymic Medals contain
metal from which iconic landmark?

(A) The Mont Blanc

The Eiffel Tower

(C) TheArc de Triomphe

(D) The Pantheon

Which of the following statements are
correct in respect of ‘Olympic Flame™?

(1) The Olympic Flame is the symbol
of Unity, Sportivity, and Victory

(2) The Olympic Torch is lit in Greece
and passed from one to the next
torch bearer to reach the hosting

city

(3) The 2024 Olympic Torch was lit on
16" April, 2024

(4) The modern Olympic Torch Relay
was conceived by Dr. Carl Diem of
Germany

2,3and 4
(B) 1,2and3
(C) 1,3and4

(D) AllFour

CSP-1/A
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Qyfg-2024 e 6FGIRGeR 699 Q%
go19a AIG NS 2R2AR ?

(A) @ 9¢ Q= (The Mont Blanc)
2 w6 ¢181a (The Eiffel Tower)
(C) <@ ges (The Arc de Triomphe)

(D) < a@eq (The Pantheon)

2RFQ NN 6UGEQ G6QIg 699 ASIYER
oR ?

(1) 2RfQ AR 6298 IQQl, 6SQAUe QU
G Qe9Q 9918

(2) 2afe AR gI96Q JRRE 621NN 9.°
92 K019 QLW ASIRUIAIET QI
2AFNNA! ALRER ALBN

(3) 16" @a 2024 6a 2024 20#Q A4IR
IR LI

(4) @FIFQ 02 QIR PA U ARG AAFHS
AGIR T6R IRARFA! AL IR

2,3@4
(B) 1,263
(C) 1,364

(D) @a9gckaicaie



7.  Which of the following statements are
correct in respect of ‘Rashtriya Vigyan
Puraskar’?

(1) This Puraskar was instituted by
Government of India in the year

2023

(2) This award is given in four
categories

(3) Vigyan Team Puraskar is given to
five teams

(4) For the year 2024, in the field of
Space Science and Technology
‘Vigyan Yuva Puraskar’ was given
to Four Scientists

(A) land3

(B) 2and4

2and3

©)
1 and 2

8. Which Bank was included in the 2024
‘Fortune Global 500 List” for the first
time?

. HDFC Bank

(B) State Bank OfIndia
(C) ICICIBank

(D) AxisBank

CSP-1/A

7.

8.

‘Qe1 FRIG AR’ 6AG6a F6AIg QR
A24qee Ok ?

(1) <2 9oee Uae Aaxee Qe 2023
Ad2A6Q gogl *QAUIREAR

(2) 92 Qa2Iq 916QIF *d6a QIR
QAR

(3) «iEd Fag S®Ie 5 gala deie
QAULINI

(4) agIeIdIRe 6 ggaa eagsa 2024
od Qlg 917 98 RARGRG TR e
Joala’ gele aIsml

(A) 163
(B) 264

(C) 263

© -

2024 69 609 a4Ie FRgR 6qIm-500 QIR
(Fortune Global 500 List) €a 28¢9
geml ?

e @ 9T @ QYIS

(B) saq eyie o adal
(C) izl e

(D) «39q «uis

[P.T.O.



10.

Which of the following statements are

correct in respect of Union Budget

2024-25?

(1) Total expenditure projected at
Rs. 48.21 Lakh Crore

(2) Receipts excluding Borrowings
Rs. 32.07 Lakh Crore

(3) Fiscal Deficit projected at 6.8 %
of GDP

(4) Net Tax Receipts Rs. 34.83 Lakh
Crore

. { amd?2

(B) 2and3
(C) land4
(D) 3and4

Which of the following statements are
correct in respect of ‘International

Everest Day’- 20247

(1) May 29" of every year is observed
as ‘International Everest Day’ in
memory of Tenzing Norgay

(2) This day was first observed by
Nepal in the year 2008 in
commemoration of Tenzing
Norgay who passed away on this
day

(3) Since its inception, this annual
observance has become a global
celebration of human endurance
resilience and the spirit of
exploration

(4) Edmund Hillary was a Swiss
National

(A) 2and4
(B) land2

@ ] and 3

(D) 3and4

CSP-1/A

10.

9590 Q6a6 - 2024-25 adegaiea 96718
609 ASUYeR 0Q ?

(1) 6916 Qua aoas 6208 48.21 8 6215
o

(2) 94 Quele ageie 91 agdaia 32.07
A 6QIT oI

(3) 8.6.9.(GDP) a 6.8 % zige dag
(Fiscal Deficit)

(4) 9@ aeg g1d 34.83 ag 66
162
(B) 263

©)
(D) 364

164

2BRIG1A 969608 §9a-2024 gATER 76919
69 AlQugEe Qald ?

(1) 6o@ aqsdw 906 goed 60 29 6
22019 Y6R6QE T9Q ARG 62IRaI

(2) 606 a6d 99 Qg 7 IR ALK,
QIed ¢.56a gasa 2008 Adeleq 1@
@2d 604IR QIQ ARG 6ARYMI

(3) «421Q gogIRIeg 12 QTR AIRE AIRS1A
6844, 990! B A6RUEQ g F6RIgQ
QAU A& 62IR2IYS

(4) B4 TRIA 62088 IRFANYILA FIGAR
(A) 264

(B) 162



11. As per the Data released by Ministry of
Health and Family Welfare, which of the
following States in India topped the
country in Organ Donation in the year
20237
(A) ‘Kamataka
(B) Tamil Nadu
(C) Maharashtra

@ Telangana

12. Which of the following statements are
correct in respect of ‘Goldman
Environmental Prize’?

(1) This Prize was established in the
year 1989 by American couple
Richard and Rhoda Goldman

(2) This Prize is awarded to honour
grassroots environmental leaders
of Global recognition

(3) Prafullah Samantara is awarded this
prize for the year 2024 from India

(4) This prize comprises of a cash prize
of $5,00,000

@ 1 and 2

(B) 2and3

(C) 2and4

(D) land4

13. The name of the Artificial Intelligence
(AI) powered News Anchor developed by
the ‘India Today Group’is .
Qs
(B) Persana
(C) Baani
(D) Anania

CSP-1/A

11.

12.

13.

dIgy 6 AQRIQ ARG AREINE QA JRUE
aiReel eay agait 2023 6@ QUAGR 699
Qiey 2erele (Organ Donation) 68862
aqieg Q@8 ?

(A) <4ieq
(B) ocifiaaig
(C) qaQig

ELEMErIQ

caIReAe ad6ed geala (Goldman
Environmental Prize) 6826 @69Ig 609
A8q4gee 0] ?

(1) @ gaxia 1989 6a 216a3QIQ @916
B 6210 CTINGMNIE QNaE QA IEF!
qIRAR

(2) Qafmq SggIn A0 YRR Qe
PRI AAQICE IR gAIR g
QAUAIRAN

(3) 2024 ¥ 91 QUEER LR ANSAUF
92 9o goIf QQIKIQE

(4) <8 geeiee 28 QiF adqIa 6298 5
A9 RN

1@2
(B) 263
(C) 264
(D) 164

a2l g6e ga QoI 8edie @gn gaaal (Al)
AEQ AAUQ IFAQ QU

aiel (Sana)

(B) ae@iel (Persana)
(C) <@ (Baani)
(D) aaay (Anania)

[P.T.O.



14. Which of the following statements are
Correct in respect of “Vantara’?

l.

(A)
(B)

It is national initiative for
afforestation

This initiative was launched by
Reliance Industries and Reliance
Foundation

It is started in Green Belt of
Jamnagar Refinery Complex,
Haryana

Vantara also aspires to become a
leader in wildlife conservation

1 and 2
3and4

@ 2 and 4

(D)

15.

] and 3

Which of the following statements are

correct in respect of ‘Alliance of Sahel
States’?

(1)

(2)

(3)

(4)

(A)
(B)
(&)

CSP-1/A

It is a Confederation formed
between three countries namely
Mali, Niger and Burkina Faso

It originated as a Mutual Defence
Pact created on 15" November,
2021

All the three member States are
former members of ‘the East
African Community’.

The Confederation was established
on 6" July 2024

1 and 2
3and 4
2and3
1 and 4

14.

15.

‘a0Ial 9A6gNa16Q F6AIQ 699 AIIYER

oK ?

1,

o

qeLm

QAEAITL/FR1RQE 6AGEQ IR 9!
RIS aQ6ad

AMNED A9ER 6 AR TIRESAR
QA 98 996QT IR 6NN

ORI ATIARIQ. @681g (Jamnagar
Refinery Complex) 2dai8ie Qg8
QRAER LI AR FALIRT

QRYEG QS 6AGER AGEN @FFI GIe
QAQI QIR YRCIAI F¥ AT UERIY QYR

162

Qigeesa sa& (Alliance of Sahel

States) 9869816 G699 689 A8NFER
o ? -

(1)
(2)
3)
4)

(A)
(B)

©)

AIR, FINCER, B QRGI TIEQAl FIAR BF
62619 6QR 12l IR YRR

15 qc@na 2021 6a 92! 9@ QIR
58l 98 WA FFRINX SRAR

ge 210 6QIgIa I8 56 A9 QUG
62028 QLef AQQY

2 g6709 6 gaia 2024 6a goge
6212

162
364
263

164



16.

17.

18.

When was Mahatma Gandhi declared
“Father of the Nation”

(A) 20" July 1946

(B) 12" August 1947

15" March 1948

@ Never, officially

India, as everyone knows, is a multi-
lingual country. People often know three
or more languages. In this context, which
of the following statements is more
correct?

In India about a quarter of the

population is bilingual; and about a
tenth is trilingual

(B) InIndia about half the population
is bilingual; about one fifth is

trilingual.

In India about a third of the
population is bilingual; about a
tenth is trilingual.

In India about three fourths of the
population is bilingual and about a
half’is trilingual.

©)

(D)

Bhatri, Bhuiya, Desia, are analogous to
P.  Bagri, Bhateali, Kahluri

Q. Chakma, Haijong, Rajbangsi

R.  Awadhi, Bagri, Bhagoria

S.  Gujrau, Pattani, Ponchi

(A) PandQbutnotR andS.

(B) QandRbutnotPandS

(C) Ronly

@P,Q,Rands

CSP-1/A

16.

17.

18.

ARIIGINIG 6960 ‘FITR F9@’ 6QIR 6AIVE
QIR

(A) 20gmia 1946
(B)
©)
@ 2QYIAR N6R, 696 Q6L

12 agg 1947
151 1948

QUAEG, 6915~ QLAY 624l 6QIR AA6g F1E3 |
SRAIIIQE AIUIQEISE 07 QI LR VA LA
Q08 | N8 UQ6gNIca F6TIg 69@ Q@G OR
2es ?

QURG FAA°HIIQ IS 0QEFERIR FRIST;

qQ° IR Q@A SR
(B) «@Uee feQ°ea gia 2l §audl; gia 9
QB8 SR
(C) QIC FFA°HYIQ IR G118 QRIAT; Ik
R QA8 GRS
(D) @Iee eea°dyq 37 egdird faust 6
gIa 2l SR

QgQ1, Qal, 62821 694 g AT AR ?

P. <igl, «ueeq, @eqd
Q. 94, AR, UK
R. &g, Qigl, aussidell
S. geae, 9gie, 6aIE
(A) PeQ@agRaS gss
(B) QeR@gPaS qee
(C) saee R

@P,Q,RGS

[P.T.O.



19.

20.

21.

What was the Lahore Resolution (1940)
about?

A united homeland for Muslims
(B) Supporting the British war effort

(C) Demand for linguistic provinces

(D) All ofthe above

The demand for linguistic provinces was
first floated to ensure that

(A) People speaking a particular
language got recognition.

For bringing the administration

closer to the people.

(C) To promote linguistic division of
India.

(D) To reduce conflict within the
country.

The British East India Company
considered itself to be the paramount
power in India after

(A) Defeating Sindhia in 1803

(B) Signing a treaty with Ranjit Singh
in 1809

@ Defeating Bhonsale in 1818

(D) Suppressing the uprising of 1857

CSP-1/A

10

19. @eaia ggie (1940) @’a aml ?

20.

21.

@ JARAISAINE AR 9@ 98g IAgIR
(B) 34 ge aeyag anee
©)

(D)

QUAEAR 96Q9IR QIF

Qa6QIg Ag

QUTITER g6 G009 QT g2 699 IR
c2IReRl

(A) 6915 78q QT AR 6RISAING 19T
gQIe

CRIRAIAE ISR g4IARg ALEIRQI
(C) @10ea QEIRES FAIR] 6g1ILe

(D) eeadeea @99 219 283!

RAUALER 6Q6Q0IQ IT¢ 24 R4 A1 GRQ
QA6 AFGI 698 T0IQ @SR ?
(A) 1803 sa JRaIg aaIg @@

1809 6a aced e A2 AFFIAI IV
@Q

(B)

@ 1818 6a culasag a9ig @@

(D) 1857 sa Qsgie @ae @@



22,

23.

24.

The first modern judicial court in India
presided over by Elijah Impey was set up
in

(A) Murshidabad

(D) Dhaka

The motto, “Yato dharmastato Jayah™ has
been adopted by

(A) The Lok Sabha of India
(B) TheRajya Sabha of India

(C) The Constituent Assembly of India

The Supreme Court of India

(3

an institutional arrangement to
keep Science, Society and Industry on the
same page” was said about

(A) ThellTs

(B)

The Department of Science and
Technology

(C) TheTIFR

. The CSIR

CSP-1/A

11

22.

23.

24.

QRS REHE 2UTGIEA AQGA FaF 2IRYRD
MBS QNG 69A0IEA FITL FAIAIRYR ?

(A) qderie
(B) aeql

@ 6 IMRC!

(D) @

‘A601 U g6el aas’ QAT RIAYAI G
QARG ?

(A) @eEQ cARAR
(B) «icea qigyaal

(O) @eea ARG a9l

QUACY ACRIT ISR

IRIR, AAIF 6 dgq AALYYIER IR0 QYL
4R QYRR Gl 6QIR QLAIRT |

(A) Q2R

(B) 2dwie ¢ s7ade a9

[P.T.O.



25. Direct Action Day refers to

The day ear-marked by the Muslim
League for taking direct action to
assert their political demand for a
separate homeland for Muslims

(B) The day ear-marked by the Indian
nationalists to oust the British
from India

(C) The day ear-marked by the
Scheduled Castes Federation to

protest against social injustice

(D) Alltheabove

26. One of the earliest mentions of
Bharat_varshais in

(A) The writings of Ptolemy
(B) The writings of Fa Hien

@ The Hathigumpha inscription

(D) TheAjanta Caves

27. This place is known as the city of caves
(A) Ajanta
(B) Ellora

(C) Udayagiri

Gharapuri

CSP-1/A
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25. Q049 @FQQd @26 Q'4 QeI ?

(B)
©)

D)

JERAIRAINE QIR IR} AAIF QTR
JaRAnRAe QA geia Iy @Ae!l 6aa
090 Qg

QAUAGY A6ANG LTINS VIR NS
FIALIFINAIAT QA §F¢ Teg

AINIFS ARG TEARIER 2AQYRE R
A21A[ QA §9e @eg

QUCAUY A

26. QUAGTQ YIPIRGA QISR RNYER 62198 ?

. A

(A)

(B)

©

D)

cemfiE smdl

TIRARE SRS

QAYF AR

288! gl

699 2EQ ‘YA 429’ QUse gla ?

(A)
(B)

- (©)

adwel
eIl

2lalsla )

gaga



28. “Kattaka caves” referred to, among others 28. ‘Q9Q QFIAIRI ARy 699A9Q SLIRAIN ?
P.  Hathigumpha and Ranigunmpha P. Q&g 8 Quéngsa
Q. Kumari Parvata Q. Qa1 9%
R.  Alakapurigumpha R, aeQigal g
S.  Mahendragarh S.  qegqde
@P,Qandeut,nots P,Q@R@Q S qed
(B) PandSbut,notQandR (B) PeSag QBRgee
(C) PandQbut,notRand S (C) PaQ@g RaSqed
(D) P,Q,RandS (D) P,Q,R6S
29. The Kalinga Prize is given for 29. QFF YORQ QAR QUIAN ?
(A) Achievements of a scientist (A) @64 6RRIFRS 9OQ
Achievements of a science 64 ARG 6ARTA @RS IFcIT
popularizer Q69
(C) Achievements of a geologist (C) <68 9oaRes 6¢
(D) Achievements of a mathematician (D) <64 qdicrs 909
30. Theachievements of Pandit Gopabandhu
Das are in the field of 30. 6QIO9g QIQ 699 69G6R GBT 9ER AR ?
(A) Science (A) Qmie
(B) Law (B) zee
@ National Movement @ RIS19 2IERINS
(D) Allofthe above (D) «asqig 29

CSP-1/A 13 {P.T0.



31. Zero Casualty At Any Cost (ZCAAC) s
a principle followed by

(A) The United Nations
(B) NATO
@ Government of Odisha

(D) SAARC

32. Porusis said to have gifted Alexander a

(A) box of mangoes

(B) diamond

@ block/ofatee]

(D) cotton shirt

33. The famous architect Bisu Moharana is
associated with

Sun Temple at Konark.

(B) TajMahal.
(C) Brihadeeswara Temple

(D) Rathas at Mahabalipuram

CSP-1/A
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31. 6Q6ql6T qRiea gay aeaaael (ZCAACQC)
216g @9 924 @0ed ?

(A) aFe eea
(B) «<iec1 (NATO)

@ 3G9 AR

(D) @i (SAARC)

32. 26RRILIg Q 699 QULIQ 6QRAUR ?

(A) 2ne@ §&

(D) geiQie

33. gQd= §g1/9aC g ALIRdI QI2l A2 A°YS ?
621619Q YAIARQ
(B) cieaga
(C) queege feQ

(D) a2eqigana <



34. At the end of the Civil Disobedience
Movement Gandhiji took out a padyatra
against untouchability. His first padyatra
was undertaken in 1934 in

(A) Nagpur

(B) Noakhali

‘(C)’ Jharsuguda

(D) Thanjavur

35. The infamous Rowlatt Act was opposed
by Indians because it provided for

trying of sedition cases without a
jury and holding suspects in jail
without trial

(B)

opposing the Indian national
movement

(©)

hampering the economic growth of
India

all of the above

D)

36. Which of the following bauxite deposit
is considered as the largest one in India?

(A) Riasiand Poonch deposit (Jammu
& Kashmir)

Panchpat mali deposit (Odisha)

(C) Gandhamardan deposit (Odisha)

(D) Balaghat deposits (Madhya
Pradesh)

CSP-1/A

34.

35S.

36.

QR AR AICRIFFR 6FER ARG, AYEIG!
FEQRIEQ N9 deIgl *Qdem | SIF] gad
aeqigl 1934 sq 6e@0 e2IQaR ?

(A) QlEge
(B) qai@

@ ¢I999e!

(D) cgea

ade asiae 2ae (Rowlatt Act) |
QISGAIER 6QAAIN TEAU AQAEK ?

GOIQ AR 6Q46QI2 AINRI B TR ISINER

ALYF RIS
(B) «ueoia e1918 Q°gIag a1
(C) «uaeq zide IRIFER SR

(D) <asaig Qg

FOAGS 9QQIRE ga AIREQ 69T RN
Q2Q V6L F9Ia @AUAN ?

(A) Q2@ 6 g °ge (FI1F 8 QF1R)

QEAe AR aege (6E4al)

(C) eraibe a°ge (654)

(D) eaig age (Fugead)

[P.T.O.



37.

38.

39,

Which states share the Tungbhadra
Multipurpose project?

Andhra Pradesh and Karnataka

(B) Karnataka and M.P.
(C) Odisha and Jharkhand
(D) Tamil Nadu and Karnataka

Match List I with List II and select the
correct answer using the code given below
the lists:

ListI ListII

(a) Chinook 1. USA.
(b) Sirocco 2. Australia
(c) Brickfielder 3. Europe
(d) Mistral 4.  Africa

Codes :

(@ () (c) (@
@+ 2
B 2 3 4 1
€y 3 2
(D) 4 1

—
B~

w
o

The only landlocked country in south-
eastAsiais:

@ Laos

(B) Thailand
(C) Vietnam
(D) Cambodia

CSP-1/A

37. QUIRQl QN1 J9gQ 699 AR QU AIUG ?

38.

39,

2IRY6d B QISR

(B) <dice 6 augees
(C) 684l 6ceue

(D) ecfiacg 6 agiee

clmel I a2 oAl II @ a°6cgig a9 8 SRR
06k QUILIRAASI 6QIC I R A0} A8
AR 99 |

clae! I ci@al II

(a) {9 1. goaIg aieaaa
(b) Qsauea 2. 2eg@al

(c) 3] Taex 3. gea@

(d) dam 4. 2189

691¢ (Codes) :

@ ® (¢) (@
@ 1 4 2 3
B) 2 3 4 1
© 3 2 1 4
@ 4 1 3 2

6090 @R4-99 wdaa QUdceds 608 6208
@ =
(B) ane

©)
(D)

@IeRIA

@ealRell



40. Match List I with List II and select the
correct answer using the code given

below the Lists:

List I List IT
(Australian States) (Cities)

(a) Queensland 1. Adelaide
(b) SouthAustralia 2. Brisbane
(¢) Victoria 3. Kalgoorlie
(d) Western Australia 4. Melbourne

5. Sydney
Codes :
(@ () (¢) (d

Aa 2 5 4 1

B) 3 1 2 4
@ 2 1 4 3

m 1 5 2 3

41. Which one of the species is an example

of extinct species?

Asiatic Cheetah

(B) BlackBuck
(C) Crocodile

(D) Indian Wild Ass

CSP-1/A
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40. oRa I a2 ofel [ @ Q68 |a G SRR

Q6R TIQIRAS 61 MAILIQ *Q A0O] AAA

908 @a |
ol I iR 1T
(26gRAANGER) (ALQYLR)
(a) Qg8 1. 26eIQQ
(b) <faacgmal 2. I6Q%,
(c) @Qeqaal 3. QRgQ
(d) ofazcgRal 4. 66
5. 4g@

62lg (Codes) :

(@ @® () @
A 2 5 4 1
)3 1 2 4
©: 1 4+ >
D) 1 5 2 3

41. [IAYS geIPE FIQ 6R9E QY IRIER ARILNE

aeg ?

@ q3IeR OF
(B) qeaie qe
(C) qaa

(D) «ueeis @4y qu

[P.T.O.



42.

43.

Which one of the following pair is not
correctly matched?

Month Position of Sun

(A) June Midday Sun overhead

at tropic of Cancer

(B) December Midday Sunoverhead
at tropic of
Capricorn

(C) March Midday Sun overhead
on Equator

‘(D):, September Midday Sun overhead

on Arctic Circle

Which one of the following term
describes not only the physical space
occupied by an organism, but also its
functional role in the community of
organisms?

(A) Ecotone

Ecological niche

(C) Habitat

(D) Homerange

CSP-1/A
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42.

43.

a96Q QAUILIRAS 6AIFAINT FMY6Q 6890 O]
609 96¢ ?

aia gdyis @e
(A) g8 RPA A4 FFCRITA
g8 Qa6a
(B) @eana RI4GRY LY F9agIRA
e Q069
(C) ai AYeRY gy YYEQS|

QUACA

auydeqa g4y qeaq
98 QU6

6Q6GAQ

PURYC FRNQ CRWE 69T B19 QIR 6RYR
AR gRG 2UFEY AR F6R AIE, N2 12
QA6 9LIQ QITY KT FAAG A QIR 96Q |

(A) @siseiq (Ecotone)
eaienaeim &9 (Ecological niche)
(C) aciage!

(D) qe ataa



44.

45.

In the grasslands, trees do not replace the
grasses as a part of an ecological
succession because of

(A) Insects and fungi

(B) Limited sunlight and paucity of
nutrients

@ Water limits and fire

(D) None of the above

With reference to the food chains in
ecosystems, which of the following
kinds of organism is / are known as
decomposer organism/organisms?

1. Virus
2.  Fungi
3. Bacteria

Select the correct answer using the codes
given below.

(A) 1only

2 and 3 only

(C) 1and3only

(D) 1,2and3

CSP-1/A
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44.

45.

QE9f6x 98 QI gEg 1@ aIRgoee agena
99 2°9 QIS RIS F6R AT A -

(A) «1e 6 oz (Fungi)
(B) 98 94i@Qd G 6QI9Q@ 0QQ 2N

@qg@@@aﬁ

(D) QU6QIQ AN 69WE 6L

@6l dga (Ecosystem) 69 €@y 4&t@!
2RINER, 6 TUKIRYS! QAT ARG
6Q9E 2ATCR RIS VIS FAIGAI ?

1. @aeg
2. o (Fungi)
3. Quegdal

AC6Q 9oR 619 AR *Q A0] AAQ PR
Qe |

(A) eaee 1

QR 263

(C) eaee 163

(D) 1,263

[P.T.O.



46.

47.

Which one of the following is the
process involved in photosynthesis?

(A) Potential energy is released to

form free energy

(C) Foodis oxidized to release carbon
dioxide and water

Free energy is converted into
potential energy and stored

(D) Oxygen is taken, and carbon
dioxide and water vapour are given
out

Consider the following :
1.  Carbon dioxide

2. Oxides of Nitrogen
3. Oxides of Sulphur

Which of the above is/are the emission/
emissions from coal combustion at
thermal power plants?

(A) 1only

(B) 2and3only

(©)

1,2and3

1 and 3 only

CSP-1/A
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46. FIRYC YTA AIRS AMIQ 6996 T661T6RTQR

47.

2S99 26T |

(A) Qe 99 §8 969 66 g9

(C) ameRlg 6 a9 6o QA6 &Iy
UFPIAR QEQ

e 98 See 9dea adeee 29 6
Qe Q6L

(D) aqeie 924 QaIaid 9e° e aie, 6
QYIAFR QA @QULI

FIAYe Q S9IQ @9 |

1. aweeie

2. QIR6LI6ER Q AFING
3. QR0q @ A9I9e

QUCAUY FAIQ 689E AR A YILER CRIRR
Q26q Fde 99 |

(A) saea 1
(B) eee@ 263

(C) eaea 163

1,2(33



48. Which of the following earthquake waves
are more destructive at the epicenter?

(A) Swaves
(B) Pwaves

(C) Rwaves

L waves

49. Jhumming cultivation is known as
‘Kuruwa’ in which region/state?

(A) Madhya Pradesh
(B) AndhraPradesh

(C) North-eastern Region

Jharkhand

CSP-1/A
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48. B[RS AUIQ 699 YFRH ST AUERLER
2P [T Q6 ?

(A) vQ oo
(B) @ oce

(C) aiq oo

qR oaet

49. 629 2ER/QIeea ¢A° 919 (Jhumming
cultivation) “gQ@l” (Kuruwa) Qiq6a
61144l |

(A) rygead
(B) aiggses
(C) <ea-9e-28e

@ QG

[P.T.O.



50. Match the following :

(a) Loess 1. River deposits

(b) Moraines 2. Glacier

deposits

(c) Gravels 3. Wind deposits

(d) SandandClay 4. Sea deposits

Codes :

@@ (b) (c) (d)
A 1 2 3 4
. 3 2 1 4
< 4 1 3 2
M) 3 4 1 2
51. Which of the following terms were not

the terms of 'August Offer - 1940'?

(1) ANominated Indian Body would be
formed after the War to frame the
Constitution

(2) Dominion Status was not the
objective of India

(3) More Indians representation in
Viceroy’s Executive Council

(4) AnAdvisory War Council was to be
established

(A) 2and3

(B) 3and4

@ l and 2

(D) land4

CSP-1/A
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50. FYAYS @ 6009 }Q |

51.

(a)
(b)
(c)
(d)

6Rle :

(A)

©)
(D)

emINg 1. @@1 a°qeie
67116QR, 2. @912 A°qeIe
gleam 3. QIg Q°q@1e

QIR 6 QIS 4. 299/Q19a A°gele
@@ () (c) (@

1 2 3 4

3 2 1 -+

4 1 3 2

3 4 1 2

FANYS 622 AGYFe ‘wGg ggIe 1940’
(August Offer - 1940) @ 28ge 96¢ ?

(1

(2)
3)

“4)

(A)

LRAEQ 67115 A6RIFE RAVIG AATS
QRIS F0R QIR AR

Qo°6Ide AAGI ARER IR Q6L

QAT UG AFEEQ 2yR
QAT gEFUQ

6019 48 QUELYl AQATQ FOR
QAR

263



52.

o3,

Which of the following statements are
not correct in respect of ‘Constituent
Assembly’?

(1) Elections to the Constituent
Assembly were held in July-August,

1946

The Indian National Congress won
208 Seats

()

3)
(4)
(B)
(©)
(D)

Muslim League won 73 Seats
Princely States won 93 Seats
1,2and3
2,3and4
1,3 and 4
1,2and 4

Which of the following matchings are
not correct in respect of Schedules and
Subjects in Indian Constitution?

Schedules Subjects

(1) I Emoluments for
C & AG of India

(2) W Allocation of
Seats in Council
of States

3) MV Administration
and Control of
Scheduled Areas

4 KX First Amendment
of Indian Constitution

(A) land2

2 and 3
(C) 2and4
(D) 3and4
CSP-1/A
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52.

3.

‘afyee ee’ (Constituent Assembly)
aBegaien, A67I9 609 239ee O] 96€ ?

(1)

QANES QeI 9IR, 1946 QRIA-2AGLER
AFI0R 6TIRAMI

(2)

QLIS F1918 @°6gq, 2085 aiQe
IR

QARARG 738 2198 FER!

Qe9Ie 2Ee 93T &IAe FeaR

(C) 1364
(D) 1264

BIRNYC 624 60IFYRR VARSI QAL SIRS
6 99 996g916Q OR Q6% ?
SIne! aag
(1) I e CGAGw
690Q
(2) I QAN 9VQPIER
2190 Q4F
3) VI Q906 689YPRER
Q4Ide 8 F9R4
4) X QUAGIL AAUIKQ gaAA
Q6aR
(A) 162
@+
(C) 264
(D) 364
[P.T.O.



54.

CSP-1/A

Which of the following statements are
correct in respect of Electoral College
in India to elect President of India?

(D)

(2)

3)

(4)

(A)

(B)

It consists of Elected Members of
Legislative Assemblies of
National Capital Territory of
Delhi, and Union Territory of
Puducherry and were added to
Electoral College by 70"
Constitutional Amendment

The number and values, of votes
are based on the population of
1971 Census of India as per 42
Constitutional Amendment

84" Constitutional Amendment
fixed the values of votes based on
current population Census 2011

The entry of MLAs of NCT of
Delhi and Union Territory of
Puducherry came with effect from
June 1, 1993

2 and 3

1 and 4

@1and2

(D)

1 and 3

954, QIAEQ FATF AR I ACAEUAIR FEAR
gasrea 769Ig 699 2@9ee 0] ?

(1)

(2)

(3)

4)

(A)

(B)

26Q 6RREIAG ALY QYo 6 RIS
QUKUIQT 2R IIa TIPS JuIARgR
2899 68 aAuea 7097 A6HRIe
QLI RENEYAIR, FEARY A°6AITE

QAUFY 4266 QeANS AQAIN 9L
1971 @R968! 2RIIQER ERAITQ A°SHYI G
amy @Qde

afadiea 84 ¢a acsaiug, 2011
FRAR! 2RIIAER ERITAT MY QS

1993, ga 1 Q @qua NCT 6 624136
UER JPELAR TUIARE AR

263

164

@132

(D) 163

24



SS.

56.

Which of the following statements are
correct in respect of the genesis of the
‘Doctrine of Basic Structure of
Constitution’?

(1) This doctrine was first propounded
by Supreme Court in Shankari
Prasad Vs Union of India Case

In Sajjan Singh Vs State of
Rajasthan Case Supreme Court
held that Parliament could amend
any part of the Constitution

In Golaknath Vs the State of Punjab
Case Supreme Court ruled that Art.
368 only lays down the procedure
to amend the Constitution but does
not give an absolute power to
Parliament to amend any part of the
Constitution

In the case of Waman Rao Vs
Union of India Supreme Court set
aside the basic structure doctrine
(A) land3

@ 2and 3

(C) 2and4

(D) land4

(2)

3)

(4)

Which Four Articles of Indian
Constitution among the below given
Articles were added to the Indian
Constitution by the 42 Constitutional
Amendment Act of 1976 ?

(1) Art.24(A) (2) Art.28(A)
(3) Art.39(A) (4) Art.43(A)
(5) Art.46(A) (6) Art.48(A)
(7) Art.144(A) (8) Art.323(A)
(A) 1,3,5and7
3,4,6and 7
(C) 2,5,7and8
(D) 1,3,5and 8

CSP-1/A
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55,

S6.

2619 699 289E@ QIR 6710 QI8 RIS
(Doctrine of Basic Structure of
Constitution) gaerea 0K ?

(1) <% dwig, galeq A6QIe FIARAT QI
JSQ1 AL QAU 691 AARIAT AIANIER
QIR

QA6LIP AUILIRD d2Q T° QR QURQIR
QY AITRIER A°AQ, AAMUIGR 6AEKET
28 QAR FAAINER 6QIR QA
6QR2EM

(2)

(3) eoIRQRIY QRIF ABIQ AFY AIANIER
Q6QIP AYINIRG QUG CIRAYEM 64, IR
368 6 6Qae QAR A°ECARITA g
28, @ A°Aeg AAIGQ 64 6Q16Q 2°ag

Q6EING QIR G4 FASI TUAIRKIT

4)

BAIR QUG SRIF 699 AARIA AINRNIER
QERIP YIARL 65170 JOF TRIBQ LV
QA26M

163
263
264
164

(A)
©)
(D)

F6I9 699 QIRCAIT §IAI, VUASIG ARUGR
4200 qfixie Qeaiue dIal 1976 arIesa
239 6LIRARI ?

(1) 24 (A) (2) u28(A)
(3) k39 (A) (4) uid3 (A)
(5) wu46(A) (6) 248 (A)
(7) w144 (A)  (8) w323 (A)
(A) 1,3,5867
3,4,667
(C) 2,5,768
(D) 1,3,568

[P.T.O.



57. Which of the following statements are
not correct in respect of Union List of
Seventh Schedule of Indian Constitution?

(1)
(2)

3)

4)

(A)
(B)
(©)

There are 100 subjects in the List

This List signifies Co-operative
Federalism

There are 15 subjects in the Union
List on which Parliament has an
exclusive power to levy Taxes

The Supreme Court has no
jurisdiction over the matters in
Union List

1 and 3
1 and 4
2 and 3

2and4

538. Which of the following are Non-
Constitutional Bodies in India?

(1)
(2)
3)
4)
(3)

(6)

(A)

®

(©)

Tribunals

National Investigation Agency
Competition Commission of India
Law Commission of India

National Commission for Scheduled
Tribes

Comptroller and Auditor General
of India

1,5and 6

2,3and4

3,5and 6

(D) 2,4and5

CSP-1/A
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57. F6QI9 699 R89EQ, aacie ARUSR AgA
ge1 2IMIRER 698 SIRGI gl O] g6d 9

(1)
(2)
3)

4)

(A)
(B)
©)

eiagisx 100 & dga 28
CIRQIT ARSI A° Q1LY YOIAF

6RLoIMRIEa 15 § wad Gea a8 ail
QAUEQ A°AQ YOR VA IREQ TRAUIY
RRAIRAQ

6RLOINT FUACA AEIUR YAIRD 6TET
22689 *QQIGe QIF

163
164

263

©) 254

58.

Faaayg 6RA98e @ac6a ASAAUGS

aage ?

(1)
(2)
3)
(4)
(5)
(6)
(A)

CuRIg

RS AFARIS A°gl

QAR goeLITel afae
QUG Y 28R

2Q9ee ARRCE RIPIA TR
QAUACA FARR B ALCAHURIR

1,566

2,364

(©)

3,566

(D) 2,465



59.

60.

Which of the following statements are
not correct in respect of the Election
Commission of India?

(1) Art. 327 gives power to Parliament
to make provision with respect to
elections to Legislatures

Besides Chief Election
Commissioner, two Additional
Commissioners were appointed for
the first time on January 1, 1990

(2)

The Election Commissioner
Amendment Act 1990 made the
Election Commission a Multi-
member body

3)

The decisions in Election
Commission by the members are
made by unanimous vote.

@ 2,3and 4

(©)

(D) 1,2and3

4)

1,3and 4

The Impeachment of Indian President in
the Parliament is a

(A) Political Procedure
(B) Legal Procedure

@ Quasi-judicial Procedure

(D) None of these

CSP-1/A
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39

60.

ferlg 699 28909 @eea AeR *Aae
ad6ga1eq O] g% ?

(1) wiQl 327 @aeq duie ael {dee
QI LA 62T

gely FRIee RFARaT SIS 9R 260
efidees g2a aq ail 1990, 1gaiai
1 62 8gQ QAR

(2)

adiee afasa asdare vl 1990,
aqI0e @filarg 9g9eqy 9AEQ eFamI

3)

4)

a9Iee @0AR6a GYRgee AR
ALAE 6T YRIIAEA 621NN

2,3@4

(B) caeq 1

(€)

(D) 1,263

1,364

QAR VAEA AUYAGT AYNEAIS 62QAR-
(A) QIR gqal

(B) aa9e 9gal

@ 2S-oyae ggal

(D) 691636 Q6w

[P.T.O.



61. Which of the following statements are
not correct in respect of Advocate
General in India?

(1) The Advocate General is the
highest Law Officer of the State

(2) Heisappointed by the Governor on
the advice of Chief Justice of High
Court

(3) He should be eligible to be
appointed as the Judge of a High
Court

(4) He/She should not be more than 65
years of age.

(A) land4

2and 4

(C) 2and3

(D) land3

62. Which of the following statements are
not correct in respect of Private Member
Bill introduced in Parliament?

(1) A Private Member is any Member
of Parliament other than Member
of Treasury Bench

(2) The Bill of this nature are
introduced and debated only on
Mondays

(3) It’s introduction in the House
requires One Month notice

(4) . A Constitution Amendment Bill
may be introduced either in Lok
Sabha or Rajya Sabha

(A) 3and4

(B) 2and3

@ 1 and 2

(D) land3

CSP-1/A

61.

62.

QAR ZIFERICTT 6RERANT ADCYVIER 609
2990e 0] g6% ?

(1) 2IPENERS 6RERARN AUNIQ A6RIF QR
2RIQ

(2) QeRILR9R qMIdcIeads aqlad
29QI6Q SIF QAUNAIR FYS FRIB

(3) 69 QE/MILIRAR IPINAD 6291g IS

(4) oIwa Q0d 65 QdQ 2N 62IRRAS

(C) 263

(D) 163

R69I9 629 APYPR A°AER 69AARIAT AR
QAQIAe gasteq OR g6% ?

(1) @66 62921 A9QY, AARRNLR M1
66@161d QIPAQ

(2) <@ @R QUQIA8 B RIS 6QF
6QINQIQAER 6QIR2N

(3) q26a 42 AAYIAR AR IR AIAQ 6915
28K 96Q

(4) 6915 QAR A EHIUR IR ERIFAR
QANANIER RAYPIAR FAUAIRAIER

(A) 364



63.

64.

Which of the following statements are
correct in respect of Anti-Defection
Law?

(1) Anti-defection Law found place in
the Constitution by 52
Constitutional Amendment

The Tenth Schedule of Indian
Constitution was inserted in the
Constitution in the year 1989
The Anti-defection Law was
reinforced in the year 2002

I[fany Member who is independently
elected joins any political party, he
is not disqualified

2 and 4

(2)

(3)
(4)

(A

1 and 3

(C) land2
(D) 3and4

Which of the following statements are
correct in respect of ‘Special Sessions’
in Parliament ?

(1) The term Special Session of
Parliament is defined in Art. 85 of
Indian Constitution

Art. 352 (8)(b) of Indian
Constitution speaks about Special
Sitting of the House of Parliament
The proceedings of both the
Houses of Parliament in special
sessions would be limited

If proclamation of Emergency is
issued when the Parliament is not
in Session, 1/3 of Lok Sabha and
1/3 of Rajya Sabha Members can
ask the President to convene a
Special Session of Parliament

1 and 2

2and3

(C) 2and4

(D) land3

(2)

(3)

(4)

CSP-1/A
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63.

64.

QRQOR FEQRIT RS JATER F6FIY QR
@gee 0) ?

(1) QAR 52 6F AEARIGER R IR
QEQRI 2IRE, YIS IR

(2)

1989 6a QfdIeq Q49 991 ALY
62IQAR

(3)

2002 6q 92-90% I6QURI1 2IRQ q 2L
QR !AULIRARN

98 69163 QoQy QRIIN WY FSIDe
6210269, 64 64 61T QREQ AITR
626 OIF AIAIQ! FIRS 6TARIT |

(A) 2064
@ 163
(C) 162
(D) 364

(4)

QAR YOR 2RIEIIF JATER F69Ig 69K

2Qgea Ok ?

(1) «eeia qduea Al 856a a°aeq
QO] A6IANQ AR QRILIRNG

(2)

Qae1a afaea a1 352 (8)(¢) a
Q°ARQ YOR 2EIIRQ QRS 2T

Qeq 26RARER A°A9q QNG dIeR
QIYIeR! A1fie Q6L

3)

4)

QAR AYERAR FYR 6967 LT FQQAT
ARG 6QIT4I RRAULN, 636Q 6RIFARAR
9@ oI B QAUMARIQ 9@ GLIAIE
Y AUFAGT A°AYQ O] ANERIR

21gIe §0a @28
(A) 162
263
(C) 264
(D) 163

[P.T.O.



65.

66.

Which of the following statements are

correct in respect of ‘Due process of !

Law’ and ‘Procedure established by
Law™?

(I)  ‘Due Process of Law’ focuses on
the formal adherence to legal
procedures set by the Government

(I) ‘Procedure established by Law’
emphasises the protection of
individuals Rights and fairness in
the application of Law and Legal
Proceedings

(A) lis correct and II is not correct

(B) IIis correct and I is not correct

(C) BothIandII are correct

Both I and II are not correct

Which one of the following is necessary
for Pressure Groups to be effective in
influencing Government Policy?

(A) Largenumber of Members
(B) Access to media outlets

@ Money and Expertise

(D) Legal support

CSP-1/A
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66.

| 65. 2ieeq vaid ggal (Due process of Law) 6

glee el g68¢ ga1e1 (Procedure
established by Law) gasea §6qig 9@
Qagea O0q ?

21999 dald gaal 99RIes Il goRe
QY9 QOYIQ FYIE UQAIRE AUER Y
a9

(D

(II) ‘a9 QQl goge gaIe!’ RIgRen e

2IRE 6 YITR 2I6QRR CAGER CATNSR
YR G YRLIQ A & |

(A) I0Qallgm
(B) IIoeaelgm

(©)

@@sa [ell gm

eua I g1l 0]

QAR FYUIRR FEAITAIN MYFYG 6R0G
claeqig! (Pressure Group) Qi 21984 ?

(A) 2@ e ey
(B) <caaiuia ag aesqiq

@ 28l 6 2880l

(D) aeede agiIae!



67.

68.

Which of the following are correct?
Substantive Public Policies are those
which;

(1) plan and programme to get things
done

(2) allocate resources/services to
particular segments of larger
society

(3) directly distribute benefits or costs
for citizens

(4) impose restrictions on behaviours
(A) land4
(B) land2

(C) 2only

3 only

Which of'the following policies provide
a Tax refund on all or part of a poor
family’s Social Security Tax?

(A) Temporary Assistance to needy
families

Earned Income Tax Credit

(C) Food Stamps

(D) Supplemental Security Income
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67. Q699 ceagle O] ?
Qelge ALeR1R F16g@R oI9l, AIQl:
(1) QNIYRE AR 6QIFR G RILIQS

(2) <228 AR 6AYAIRA AR/ 6QS|
6QISIRQ MRQ

(3) fEELAIRS QIR OIARNIES AR | RY
oy

(4) 210948 QUER ARSI RAIA
(A) 164
(B) 162

(C) exea 2

6aeq 3

68. TerIg 69RE 6OIGN G8Q TfQIea ANIFR
4ol TRda &°9 Q1 AR TR 6TARR| RIT
Ry ?

(A) <RQ afINgR] AP ALV

2R 2IgQQ 649
(C) «ey |y

(D) 2odg goal 219

[P.T.O.



69. Which of the statements about Public

70.

Policy are Correct? ‘A Public Policy
may be;

(1)
(2)
()
(4)
(A)
(B)

@ 1,2and 3

(D) 1,3and4

General or Specific
Broad or Narrow
Positive or Negative
Rational or Irrational

1,2 and 4

Which of the following statements are
correct in respect of ‘Distributive Public
Policy’?

(D)

It is also known as ‘Patronage
Policy’

(2)

It is meant for specific segments
of Society

3)

It is concerned with regulation and
control of goods and services

(4)

(B)
©)
(D)

It requires little administrative
discretion

1,2and 4
2,3and 4
1,3and 4

1,2and3
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69.

70,

F6919 699 AGYER AR A0 ARYVIER
0] ? 60T ALRER 916 IS ?

(1) ared e a&g
(2)

geg <l 9g96

(3)

QAR 9 AR
(4) <98aee QI gagIe
A) 1,264
(B) 2,364

@1,2(33

(D) 1,364

06919 699 2Q9FQ ‘AeFR Q9e 918’
AQeg1ea 0] ?

(1) <2 axy ‘9esQIas Q16" @I6e atde
42l AAIFQ FEY 64IF1/QTF A1 Q&Y

(2)
(3)

gl AINg1 G 6291R ARSIRG| 8 FARE
AR QG

92 R GOIAFR F6Q0R! IR KEQ

(4)
0,

(B) 2,364

1,264

(C) 1,364

(D) 1,263



71.

Which of the Articles of Indian
Constitution relating to Fundamental
Rights are not available to Foreigners in
India?

(A) Articles 14, 20, 21, 24 and 26
(B) Articles 21, 21(A), 23, 25 and 28
(C) Articles 14, 22, 25, 26 and 28

@Articles 15, 16, 19, 29 and 30

72. Which Four Amendments to Indian

Constitution given below are related to
Scheduled Castes and Scheduled Tribes
in India?

List of Amendments to Indian

Constitution:

1, 8, 19, 29, 46, 65, 95, 102
1,8,65,95

(B) 8,19, 46,102

19, 46, 65, 95

(©)

(D) 1,19,29,65
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33

71.

Q01D ARG 6F1R9 2NRIQ ARG 69
UIAIYER AUAGER FERIAIGT IR AEY G6w ?

(A) wiai14,20,21,24 626
(B) waiai21,21(A), 23,25 628

(C) il 14,22,25,26628

@ aial 15, 16, 19, 29 6 30

72. QUAGIY AN FEAIQ 69Q VITETIT ACHIUR

QATA UPYTE RN 6 FFRCT AL ?
QNG AAUFA A°CARIS SINR :

1, 8, 19, 29, 46, 65, 95, 102
1, 8, 65,95

(B) 8,19, 46, 102

(C) 19,46, 65,95
(D)

1, 19, 29,65

[P.T.O.



13,

74.

Which of the following statements
are not correct in respect of ‘Right
to Privacy’?

(I) The Nine-Judge Constitutional
Bench that declared ‘Right to
Privacy’ as Fundamental Right
was headed by Justice J.S.
Khehar

(2) The Supreme Court of India

gave this historic judgement on

August 24,2018

Justice J.S. Khehar was the
former 42" Chief Justice of
India

(3)

(4) He was appointed as Chief

Justice of India in the year 2017
2and3
(B) land2
(C) 2and4

(D) 3and4

Which of the following is not included
in Art. 19 of Indian Constitution?

(A) Freedom of Speech and Expression
(B) Freedom of Movement
@ Freedom from Detention

(D) Freedom of Association
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73.

74.

‘490e 2y919’ (Right to Privacy) anssa
26919 699 agee 0] 962 ?

(1) g8 69.499.69210s 21Ul 906
Q' @dial AAUEFR Jad10 ‘YA
2YRNY Q 6F1RR ANRIQ QER 6QAIVAl

RAER

(2) 2018, 299 24 6a QAR AR
IBIRa 98 F02TR QUL 6QREER

(3) QUGG 61.99.6821Q QNG ACSIP
AR 4260 Q6 IIQAT

(4) 69 Qeea gHiecIRaE Qe 20176a
099 6TIRAUEM

@:+3

B) 162

(C) 264

(D) 364

26419 6000 QIae1a afxIea el 199 2899
Q6 ?

(A) QI QRIS 8 /LGRS

(B) aieeieq Qia1eel (Freedom of
Movement)

@@mg qiaigel (Freedom from
Detention)

(D) «aa quieel (Freedom of

Association)



FER

76.

In which of the following years the
"Declaration of the Rights of the Child'
was passed by UNO?

(A) 1949

(B) 1951

(C) 1956

1959

Read the following statement given below
and choose the correct alternative

Statement 1- Land degradation is caused
due to soil erosion and waterlogging

Statement 2- Deforestation is the major
cause of soil erosion

(B)

Both are correct

Both are incorrect

Statement 1 is ‘correct and
statement 2 is incorrect

(©)

Statement 1 is incorrect and
statement 2 is correct

(D)
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T

76.

76919 69Q adeeq RIGAA QIR ‘g
2YRIQGS CQITSIRIA AQEAITS 6QIRUM ?

(A) 1949
(B) 1951

(C) 1956

1959

QRS Q99ee 9F 1aIe A0e Sag Fda
e |

Q@ 1 - 9891 99 6 99946l 6QI1g *FQ 2T
Qcend

Qg 2 - OFR 9Q © AR 999 ggs 21
Qe 0]

(B) <ea gm

(C) gaa @@ 0K 6 Yo1a a8 9m

(D) gaa @@ g 8 $o19 @@ Ok

. [P.T.O.



77. Land degradation in India happens at a
very large scale”, because

(A) Inadequate soil conservation
measures

(B) Overgrazing

@Both (A)and (B)

(D) None of the above

78. “There is ahuge loss of valuable nutrients
and fertility in India”. What are the
reasons for this?

(A) Soil erosion

Land degradation

(C) Water logging

(D) Air Pollution

CSP-1/A
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7.

78.

RAUAGER AR AIGIER FFIQ AW AT | 92U
QS —

(A) @Uge 8% e84 QIR AN
(B) 2oy ced

@ Qe (A)9e* (B)

(D) 4gEe AaYQ 6906 6%

QUAGER JRISIE g3 6 ALATIA TR AT
2QYe 29 | N2IQ QG -

(A) e«
ROQ A
(C) eeqgel

(D) <iggqae



79,

80.

81.

Which of the following organization
collects every data on poverty in India?

(A) MGNERGA
NSSO
(C) SISRY

(D) None of these

Which of'the following helps to measure
the Poverty Determination?

(A) Poverty Gap Index
(B) Head Count Ratio

Sen Index

©)

All of these

In India, which of the following
determines the wage policy?

(A) Productivity
Cost of Living
(C) Standard of Living

(D) None of these

CSP-1/A
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79.

80.

81.

F601Q 64 ATOR VASA QAYY AWK ANG
Qe A°gYL AR 7

(A) -agegeaese (MGNERGA)
48 49 49 6 (NSSO)
(C) 4qee4qaq ga (SISRY)

(D) 64162% Q6%

36919 FRAINQ 699 QUIAT QTN Fgaca ALIgQ
62192, ?

(A) @Ry ey gealw
(B) 9e aaq agaie

(C) 69 goqlw

O

R6QIQ AU 69LT @I9esa AIGghe @18
(wage policy) @da @daid ?

(A) QAN

1 UIQAER MY

(C) 919g ddQ AIQ

(D) 61636 q6e

[P.T.O.



82. Which of the following three states in

83.

India are considered the poorest?

(A) Bihar, Madhya Pradesh, Haryana

(C) AndhraPradesh, Jharkhand, Bihar

Jharkhand, Bihar, Uttar Pradesh

(D) Madhya Pradesh, Haryana,
Jharkhand

Consider the following statements about
Atal Bhujal Yojana

(1)

It is conceived to arrest the rampant
overuse of groundwater in India

(2) Itissupported by the World Bank

It is a sub-scheme under National
Groundwater ~ Management
Improvement Scheme (NGMIS)

3)

Select the correct statements

2and 3

(D) Allofthe above
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82.

83.

QLA AV FAL AU RANEA 68Q 6T
QAR TEQPG S ?

(A) ‘e, Mygeed, 2t
@ QeHd, F2IQ, QAR Y6
(C) wiggsad, gIews, 21

(D) qagead, eRaIel, I9HS

SR QOF 6JI8R1" ANNER QEQIQ FIMYER
9IQ @x | ‘

(1) 2SRIS 9OF §F NELQ 6 AR
2 6QI9RI 990 69198

(2) Qguuw aeIegl giIg

(3) <IeIR QE° *@ AAPINR IQIE ARG
RAFER 92 IR QUCIRR!

0Q F1994% A¢a aa |
(A) 263

163

@1@2

(D) easaig age



84.

85S.

Which year is known as the year of
demographic divide?

1921

(B) 1920

(C) 1919
(D) 1918

Consider the following statement (s)
related to the reasons for low sex ratio.

I.  High maternal mortality
II. ~Sexselective female abortions
III. Change in sex ratio at birth
Code:

(A) Onlyl

(B) I&II

(C) T&II

I,H&HI
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84.

85.

60Q 99T FEQ°EI AANID SRIFe 9F @I6e
Q6Q0e eI ?

1921

(B) 1920

(C) 1919

(D) 1918

A 2QUIC QF 62RIR QIQE AAER F67IQ
A24gee 919 @ |

[ aye qIg agiee

Qe 5Qa8 QR @Ryl gaeul
99 AN AT UG AR
6Q1Q :
(A) saeel
[ee Il

(B)

(C) Il Il

©

I, I aee III

[P.T.O.



86.

87.

Consider the following statements
regarding an aquatic ecosystem :

(1) The shallow water zone around the
edge of the lake is the littoral zone.

(2) Limnetic zone is the open zone
where phytoplankton grows in

abundance

Profundal zone is the dark zone
where the light cannot reach.

(3)

Which of the statements given above is/
are correct?

(A) 1only
(B) 2and3only

(C) 1and3only

1,2and3

Which climatic phenomenon is
characterized by cooler than normal sea
surface temperatures in the central
Pacific Ocean?

LaNina
(B) EIlNino
(C) Monsoon

(D) Tornado
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86. SR% AREI G| 6FR 6718 RYYERR IR

87.

A :

(1)

2Q UINAEA 2RI RGP FREAG 62QF
mcain eag (Littoral Zone)

Limnetic Zone 6268 99685 6Q9016a
phytoplankton gga @uee e@aia

(2)

Profundal Zone 6208 2291 699
6016 2RISR TRERIN

(3)

26919 699 @8/236e: O] ?
(A) seew 1
e 26 3

(B)

caer 16 3

(©)

@ 1,263

6QRIA gaI8 ARIAIGREa 691 AIGAIT ASE!
ARIQE AIgLR UG S10R @R ?

a@el (La Nina)
(B) <@ @6xl (El Nino)
(C) edlgen

(D) aigde <@ (Tornado)



88.

89.

Which of the following Articles of the
Constitution of India refers to protection
and improvement of environment and
safeguarding of forests and wildlife?

(A) 39A

(B) 43A

@ 48A

(D) 51A

Which of the following are primary
pollutants?

(1) Carbon monoxide (CO)
(2) Sulphur oxides (SO,)

Volatile Organic Compounds
(VOCs)

3)

(4) Nitric Oxide (NO)

(5) CFC's
(6)

Radioactive pollutants

Select the correct answer using the code
given below

(A) 1,2,3and6 only
(B) 1,2,4andS5 only

(C) 3,4,5and6only

1,2,3,4,5and6

CSP-1/A

41

88.

89.

QASIA FAUIRS T6QIQ 699 IR €K G
QaeeR gOSI 8 9564 FRI9 IR ARY ?

(A) 39A
(B) 43A

@

(D) 51A

76q1Q 690Qee glafie 9984 ?
(1) Carbon monoxide (CO)
(2) Sulphur oxides (SO,)

(3)

Volatile Organic Compounds
(VOCs)

(4) Nitric Oxide (NO)
(5) CFC's
(6)

Radioactive pollutants

206 QYIRS 6119 MRLIA *Q 0] QeQ
Qg |

(A) eaen1,2,366
(B) s@ee1,2,465
(C) eae93,.4,566

1,2,3,4,5@6

[P.T.O.



90. Consider the following statements:

91.

(1) Meteorological Drought is based
on the impact of rainfall deficits on
the water supply.

(2) Socioeconomic Drought refers to
the impact of drought conditions on
supply and demand of economic

goods.

Which of'the statements given above is/
are correct?

(C) Bothland2
(D) Neither 1 nor 2

With reference to cloud seeding,
consider the following statements:

(1) It is a weather modification
technique that improves a cloud’s
ability to produce rain or snow by
introducing tiny ice nuclei into
certain types of subfreezing clouds.

(2)

Aluminum hydroxide is the most
common chemical used for cloud
seeding.

Select the correct statement using the
code given below:

@ 1 only
(B) 2only
(C) Bothland2
(D) Neither I nor 2
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90.

91.

Q6I9 QUYL PIQ A :

(1)

AEAIGGe F19E FREAINIEER W IR
Jele 98¢

(2)

QAR 6 AIe A9F YR AagIQ
EQIGNE B QI ARG

QUCAIQ 699 AG/0Fgee 0] ?

(A) eaeq 1

eaeqe 2

(C) eaalg2

(D) 1 &2, eaagee

609 @196 (Cloud Seeding) @@ed@ &q
QIIERA IR !Q:

(1) 219 adaIg QIS 6aER QI 69
Qdl @QIes AAeI QF QI 6AAAIRIG
G1079Q¢ @A 69 6816 AT 98 &
Q6Q

(2) aRffan ARLIFUANL, 609 1S

6QUYEER YIS QAUUINGR QU] QLI

99

27162 QAUIYIRQ 6R1F NILIQ 27 AR
2095 QUL :

caee 1

o

(B)
(©)

(D) 1 @2, caages

6aeqe 2

el 62



92. National Air Quality Index (AQI) is

launched by the government to monitor
the quality of air in major urban centres
across the country on a real-time basis
and enhancing public awareness for
taking mitigative action. In this context,
consider the following statements:

(1) AQI will have ‘one number, one
colour and one description’ to
inform the public about air quality
in a simple and easily
understandable format

(2) There are six AQI categories,
namely: good, satisfactory,
moderately polluted, poor, very

92.

geeias @l National Air Quality Index
(AQI) g0gI 9QIKIR 6Q9Q Y ARAERER
ARI0 ANAIGAIER 3 QY FAIVE B GFACCSRT!
98 QA MAY UM, 9T gAFER T 2QYLIER
PR 9 |

(1) AQI 9@ @¢l, 99 Qe 6 9@ agal’
66Q FRGIQ YR AR AR G AR
RUER YRINQIQ YR

(2) AQIQ6F 39, Q2i: 285, ACBITRR,
2g 998c, ¢Id, 2R ¢ G Q1JE
Sially

poor and severe
(3) 42 oRQl 20T g9uda QIR 6
PM10,PM2.5,NO,, SO,, CO, O,,
(3) The index considers eight NH, 6 Pb

pollutants - PM10, PM2.5, NO,,
SO,, CO, O, NH, and Pb

Which of the statements given above are
correct?

(A) 2and3only

(B) 1and3only

(C) land2only

QUCAUQ 69 ABIE® O] ?

(A) eaeR 263

(B) eaer 163

(C) eaeplB2

1,2and3

CSP-1/A 43
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93. Which of the following best describes | 93. 'Deep Ecologism' @ §6<1i9 682 @88 Q@6
the term Deep ecologism? RS QUISY F6R |

(A) A philosophy that believes in
specific changes in daily lifestyle
of humans to minimize the damage
to the environment

(A) <@ Qde QIR T4IA A6Q 6TRA 199
690160 @8Q afeae Adsg afised
QF B0 FRQIEQ ALIAG| FEQ

(B)A philosophy that believes that 9@ Q47 Q12 91 964 A8, AR6RE
humans should radically change S TORER. RN GuRee Gusl B2
their relationship with nature

(C) Qg AIPER AT6a6Q I8 AYIRR
(C) A set of sustainable practices to 9% @QQl aeuIQ
increase fish production in shallow
ocean ecosystems

(D) @iy 6a163% 964

(D) None of the above

94. zed 0Q6ed 29gIER K¢ 9FQ gaId

94. The ability of a population to increase 460 '8 QI 7

under ideal environmental conditions is
called

(A) egee (Natality)
(A) Natality

(B) saewried (Carrying capacity)
(B) Carrying capacity

@Bio fic potential @ e@e airely (Biotic potential)

(D) Absolute natality (D) <94 99916 (Absolute natality)
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9s.

96.

97.

Which disaster is most likely to be
influenced by climate change?

(A) Earthquakes
(B) Tsunamis

@ Tropical cyclones

(D) Volcanic eruptions

Tidal waves are caused by which of the
following gravitational interactions?

(A) Sun’s gravitational impact on the
Moon

(B) Earth’s gravitational impact on the
Moon

Moon’s gravitational impact on the
Earth

(D) Earth’s gravitational impact on the
Sun

A square shaped hole is punched in a
metal sheet whose linear thermal
expansion coefficient is 1 x 10~ per °C.
The size of the hole will decrease by
10%, when

(A) The sheet is heated by 10 °C
The sheet is heated by 100 °C
(C) The sheetis cooled by 100 °C

(D) The sheet is cooled by 10 °C

CSP-1/A
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95. GRQIY UAQER gRINER 6RQ QRAIR AR
6RIREIN ?

(A) 9fies
(B) geien

@ AIgIR QUM

(D) e1699 @QQ1Qd

96. 369 6@ AIrIGHE Gal 6219 U Q& 29
(A) o8 206a gdiFa ARIGIS gRIe
(B) ©g 206a 9L ARISEE gaIe

@ J2s1 296Q 98 @ FkISdE gaIe

(D) g€y 206Q Q2RI ARISEE gaIe

97. 49 yI9Q J¢ AILIQ 6THR Q1d1A A°gAIQE
qgae 1 x 1072 g& °C ¢1eg6 1@ *6IQIQ
20 PUUIE | 8ea a191a 10% 219 9199,
616Q6Q6R -

(A) dg 10 °C Q@I 99¢a g4

ag 100 °C Qial gaa g4

(C) dg 100 °C Qlal a8l 29

(D) dg 10 °C QIon a8l 29

[P.T.O.



98. Which among the following has the least
thermal conductivity?

(A) metal

semiconductor

(B)

@ superconductor

(D) alloy

99. Symbol of material used in conventional
glass thermometers is

(A) Mg
e
(C) Me

(D) Mn

100. The temperature variation of land near
sea is very less compared to that far from
sea. This is due to

(A) Sunray is not direct

(B) The sea absorbs the heat

‘ (C)? High heat capacity of humid air

(D) Heat is reflected by the sea

CSP-1/A
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98. T6QIg AUIQ 69ReQ ATRT FIUIT ARG
&g ?

(A) g
(B) asadqiel

@ 28 99911

(D) dgug
99. QIrAAR QIS AFIFITRER LS AINYIQ YO1R
6298 -
(A) 9w (Mg)
<% (He)
(C) <9a (Me)

(D) 4R (Mn)

100. 9920IQ 9R6Q 2<I YAVIS YRAIER FRTER
29l gRAIGQ CIANIGIR SIRGAY Qg6 @F | 921
QUQE -

(A) gdiaeda geym 6w
(B) Qqge eugg 64194 9Q24

@ 21S QIYA Q@ QAT FAG!

(D) <@ QeI 9oTae cainald
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